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Ma 1 –  Lubov  Vassilevskaya

Die  Integration  durch  Substitution:  Die  Integration  durch  Substitution:  Aufgabe  5Aufgabe  5

8-1

Berechnen  Sie  folgende  Integrale:

a )  ∫ x2 cos 2 x3 − 6 dx ,        ∫ x2 − 1 sin  x3 − 3 x  dx

b )  ∫ 1

x2
sin  1

x  ,        ∫ cos  x 

x
dx

c )  ∫ cos2  x  sin  x 

x
dx ,        ∫ sin2  x  cos x 

 x
dx



  

Die  Integration  durch  Substitution:  Die  Integration  durch  Substitution:  Lösung  5aLösung  5a

∫ x2 cos (2 x3 − 6) dx = 1
6

sin (2 x3 − 6) + C

∫ x2 − 1 sin x3 − 3 x  dx = − 1
3

cos x3 − 3 x   C



  

Die  Integration  durch  Substitution:  Die  Integration  durch  Substitution:  Lösung  5bLösung  5b

∫ 1

x2
sin  1

x  = cos  1
x   C

∫ cos  x 

 x
dx = 2 sin  x  C



  

Die  Integration  durch  Substitution:  Die  Integration  durch  Substitution:  Lösung  5cLösung  5c

∫ cos2 (√x ) sin (√x )

√x
dx ,         u = cos (√x )

du
dx

= −
sin  x 

2  x
,        

sin  x 

 x
dx = −2 du ,        cos2  x  = u2

∫ cos2  x  sin  x 

x
dx = −2∫ u2 du = −2 u3

3
 C =− 2

3
cos3 x   C

1  Variante:



  

Die  Integration  durch  Substitution:    Lösung  5cLösung  5c

2  Variante:

∫ cos2 x  sin  x 

 x
dx = − 2

3
cos3 x   C ,       u =  x

∫ sin2  x  cos  x 

 x
dx = 2

3
sin3  x  C



  

Ma 1 –  Lubov  Vassilevskaya

Die  Integration  durch  Substitution:    Aufgabe  6Aufgabe  6

8-2

a )  ∫ cos x

1 +sin2 x
dx ,        ∫ sin x

1 +cos2 x
dx ,        ∫ cos x

9 +sin2 x
dx

b )  ∫ sin (2 x − 3)

cos2(2 x − 3)
dx ,        ∫ cos(2 x )

4 +sin2(2 x)
dx ,        ∫ sin (3 x − 2)

6 +2cos2(3 x − 2)
dx

c )  ∫ sin x

√cos x
dx ,        ∫ sin x

√4 − cos x
dx ,        

∫cos x

√9 − 3sin x
dx



  

10-3 Ma 1 –  Lubov  Vassilevskaya



  

10-4 Ma 1 –  Lubov  Vassilevskaya


	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9

